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GROUP-A (c) No reaction takes place.
F-oj9 fafEma 719G |
. o ‘ QieFa <G Al
For each question given below four answers are given. Out of four i '
only, one answer is c .S he 9 swer. | = :
Yy orrec elect the correct ansuwer. 1x10=10 (d) lron sall and water are produced.
wery &fech] e SiAvIce Ged 73 W?’(éz/ BIRGH [Sevw g @bz &y Gev| &%
o ke SIERal Teo 24 |
Caahr N Claed R S “
s [EE TR 3R T Gl |
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9. Which one of the following types of medicines is uscd fo
1. What happens when dilute hydrochloric acid is added (o iron Lreatmg indigestion ? |
filings ? : 1
| wﬁfﬁ%ﬁmmmwm«qa@wmﬂij
& 90 @fon 71y 2RYsRe ke @i efs el @ 2 . :
_ S | @eﬁvﬁm%ﬁsaﬁrﬁwﬁmﬁmméﬂdmﬁﬁlﬂ-
I3 =7q YRGIEifs SpiFrea A Ezped @isl wH vd e 7 A
| e - (@ Antibiotic.
(@) THydrogen gas and iron chloride are produced.
¥ G oT |
ZIBG (T (olg B IR FARE T W |
Al |

TRCGITG 7 3L S GRS Sesld 23 |
B (b) Analgesic.

QA |
QA |

(b) Chlorine gas and iron hydroxide arc produced.
TR (g T Si3E 223G HIRe Tedn |

IR SOFT G TR 2RSS BeH |
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(c) Antacid.
ST |

ECIN

(d) Antiseplic.

TSI |
QFoeA#[Ges |

Wi #
hich of the following metals reacts vigorously with oxygen ?
1

HrOSTER S FF 419 EGER A SRei e sy

(@ Na
(b) Fe
(c) Cu

(d) Ag
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An alom has elcctronic configuration 2, 8, 7. To which ol
following clements would it be chemically, similar ? (ato

numbers are given in the parentheses).

Gt ofEeE B [ R 2, 8, 7| wF CTAGARE (GG
S AP A A (afa feede AREAR AT fori 1

@l oo e {2, 8, 7 firme A
R T @ AR A A2 (i oot Asiefda 7
R TACR)

@ N7
(b) F(9)
(¢ P(15)
(d) Ar(18)

[Tow many cleclrons will contribute in onc second in ca

onc micro-amperc of current ?

@ B ReeIz (1 (IR A OF (RO Rl TSI 2
siffte 7% AR
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2 bIfETS Zen e 2 PP

(@ 625x10!5
(b) 625 x 109
(c) 625x1012

(d) 625 x 106

(),J - ; = I
zone, at the higher levels of the almosphere, prevents
1

AT Th %q© Oere T B

MG SR e @ A o7
(@ infra-red radiations

s Ty

SREIRS )
(b) visible light

T (iR

I e

GS (EN/AS/BN) (6]

(c) UV radiations
gl <&

sfoma af

(d) both (a) and (c)
(a) SF (c) TG
(@) €% (c) 7o

7. Which of the following is not a renewable source of enct

o (FACD] e *ifeT B =2
frare @RS Taead «feq B T2

(@ sun
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(c) fossil fucl A (c) pecpsin

GRS 5w _ cotei ot
GrMEre 2 | | e
(d) water n ‘ (d) Lrypsin
G | e : fGeifow
L ' - {BefE
The enzyme which converts starch (o simple sugar is 1 9. The hormone which causcs willing of leaves is

CSMURE Yae (5fia el 9 @c;mw&ﬁm N T — % fa ﬁ@ﬁ oiefq 2ree 2d FiIS ﬁ% AE —
CHORCT 71 s weliee il Seomwasfon w1 gray — el el aliea =Ml WG AT —
(@ amylasec ‘ ) | ' @ Auxin
GG | o

wiETE L g
)" lipase. z p (b) Gibberellin

ARG | | ——

GBI | ‘ P
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(c) Abscisic acid

5i3MRE «fbe

(d) Cytokinin
BIZ5 PR

10. Human originated in —

- WigEa el tafem —

T Terife grafee —

(a) Asia
e
GBI [AT]

(b) Alrica
iffrere
S| B TAY)

(c) Australia
OGS

(d) Europe
RIS
BT

Il 7_Gs (EN/AS/BN)
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GROUP - B
- SEC

le a chemical equation Lo show the reaction between Plaster
1

aris and Watef.

o (oI S~ S RIS (IR @61 SR ATk

1 o A7 g3 e Wy Rt (iR g 93t qeiEde
| e | |

|2. Which of the fnllnmng belongs to the same hnmolognus scries ?
]

wee Al CRFEIE @ AR (HT Srasfe 2

fC9E (@ReTEl O3 SWITR (@T Srefe 2

CaHg, CyHg, Cyqlg, CsHg

13, In Mendel's experiment with tall and dwarl pea plants, whicl

[calure is dominant ?
a4 2T AT S G B9 W61 T = (oI T eeld]

AT

Gl AT I a8 (06 OISR (i el ikl ¢
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14. What arc the two types of peripheral nerves ? 1

15.

16.

[ 1
i
\li’llw—c;s (EN/AS/BN)

43 el Al Ty Ry

HE A SiEE Wy Fe

How the life of the filament ol an clectric bulb is prolonged ?
1

(aqifos 97" Reslierse Slamael Tl @rEnE a4l 202,

aifes it FEleIebd Sl FIend A 22

Take 2g of calcium oxide in a beaker. Slowly add walter (o il.

~Answer the following —

bl fatae 2g (@sifean SmilEe (i | ﬁmm—arcq 2 2l Calel <4 |
weTs fWeiraeE Seq w9 —

@l faia 2g e wwize @6 ¢iftte fim fir om Rk @)
fisrearsia Se e —

()  What will be the changé of temperature ? 1
el (@ AARaSs 4fba?

Teely fF “ifgese w5

[12]
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1

(i) Wrile the balanced chemical reaclion for the above
stalement. el

eolqa Y 61 el qmrfTe Fieae & |

Gorare Sfefby ol etz wRrfi sl @

Or—/?ﬁ?ﬁ?/ /T8

Identily the substance that is oxidised and Lthe substance that
is reduced in the following two rcaclions :

et Al phre enfte i RelRe @Rl omed g afs Shie -
Ficsire ffwn gitce aife g feifie geu swmidms @ e

() 4ANa(s)+0,(g) — 2Na,0(s) | ' 1

(i) Cuo(s)+H,(g) —> Cu(s)+I1,0() 1

Wrile balanced cqualions with state symbols for the following
reactions

il [fraicaraa <@ s@gl B Az Qb welie wemfe e G
fesile flaemm g sy Bwm @ w@ e smmfes siead
e '

Solution ol barium chloride and sodium sulphate in water
react to give insoluble barium sulphale and solution ol sodium
chloride. _ 2

[13] Conld.
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RS ST o ST WeErsd Ge Ged ere fferl @b i)
@l BeEs e Sfus F4Eed 4 uge |

A ERES G718 GTGAR FEREE Gel [ G T fafera g A

@@ AT @as G @iaReed a1e awe 24 |
Or/ﬁ/@%f

Sodium hydroxide solution (in water) reacts with hydrochloric

acid solution (in water) lto produce sodium chloride solulion

and walter.

Bfa 232G G T (Se) 230 FRE ETT wem (AFs) es [ie
3R wTeas $'43%% wa 9 Al Seom I |

EIfeam 2EEHEed wad (TE) 22GERRE SHPieed & (). 7eF
fdfema =@ Eifeas ErRiRces wa¢ 3¢ o @Qo_rﬁ FE |

You arc given two solutions A and B. The pll of solution A is

3 and pH of the solution B is 8. Which solution has more

“hydrogen ion concentration ? Which of these solutions is acidic

and which onc is basic ? ' : 2

(SIS W61 &4 A ©I% B il 2511 99 A3 pH I 99 3 ¥IF ¥4 B4 pHI
A 8 | @FFCE! TS QTG (e S 515%] (@R T4 2 (@RI G4 wifEs s
(PO PRSI ?

[14]

19.

20.

| B17-GS (EN/AS/IBN)

cotsiics 46 99 A @3 B (0¥l (T | B4 A-99 pH-GF M 3 @R &<
B-q5 pH-F A 8 | (i Teibrs ZIRCGICE SRR #ilpe! @ 22
Telfe wifEs @R @R wFaPa e |

Write the technique of tissue culture used by the plant breeders

.
o«

T deamEia! Sh0E IR T ToN-FLeE GFEE ol |

@@ﬁwﬁmwwwﬁw@ﬁ*ﬁm@n 2
Or / 7241/ &¥41

Describe the process of fission in unicellular organisms.

G Gl Rorem 2/afs a4 |

i) Giega Jete siafo ada st |

(@)  Why does an astronaut sce sky colour as black instead
of blue? Tt 1
LI e SR % Tl ARES Fer e feae

iG] TERBBIT SIPITE 16 It ARCS B Gedl @l 2

[15] Conud.
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21.

(b} Draw a diagram {o show angle of deviation durmg

(a)

(b)

'B17-GS (EN/AS/BN) : [16]

How does solenoid behave like a n’iagnet ? Explain with diagram.

refraction of light through a triangular glass prism, * 1 )
g 2 Bresm s (7T AfSeld S Beoly @) Rsyfs |
h < RRTTRI b (i30T (PETTCT PR M I69¢ 2 oaw =y <y 3w |

GRSl ST | | | .

Fagenssi 211 Brerc siey e wiieeTie @i pm Seotn gy | CIFES FIOT pace wro silvzel 908 2 T sireicay AR
IS cmrel et

() Whal is clectromagnetic induction ? 1

I {relocity of light in a medium is 2 x 108m/s, what is the

refractive in‘dlcx ol the medium ? : 1 ﬁﬁm* RER Sl

I fn&ﬁsr TS (AIZs Bl 2 x 108m =i (PG TH, TG [Fpad e e

GloNEGIRCH ﬁs-*xrrrp

' el (b} Wrile the principal difference between AC generator and
At 3 T S @ e erre 2 % 108m 24, 4rba

] DC fcﬁc ralor. . 1
STl w9 & '

48] mmmﬁwmmm&ﬁawww@

Define 1 dioptre of power of a lens. ; 1
| feral |

(SR G 1 ORIPON e sk Ry

_ : “fi48] e Seotine qae G R7e Beoimcaa 24 «f1<4 (o2l |
G GRATH 1 CreioE el sike e |
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24. Two elements A and B have atomic number 12 and

respectively.
7ol GTE1 A S B 2ISI6R% 722l S0 12 i 17.

gio GTel A G B-93 #RsielRa wikayl 9@ 12 @1z 17,

Or / 71231 / &12<)

()  Which element has two shells, both of which are completely

lilled with clections ? 1

(<HITCH] G qCaib] I8 Semahe 7l r

()  Wrile the electronic configuration of A and B. - Ry e
(B (TEE g0 T8 BrerEGa7) 2
A S B IR [bt B '
L (i) Which clement has cleclronic conliguration 2.8.3 ?
A GR B-9g FFGNT [T @l | | @ -
Downloaded from JobAssam.in
(i) Which type of bond A and B will form ? (T TR Wﬁﬂ e 2.8.3 2 |
A I BI e (P PIE AFA 5159 292 @ TR S5 B 2.8.8 2
A SRR B-9F K T S 39 910 212
. | (tif) - Which element has a total of three shells with four
(i) Write the formula of the compﬂund formed by A and cleclrons in the valence shell? | :
(BRIE (TR (e w%o BIRG TEGEE (ee 5 i v
A S BT G 5167 (A (R RS i) ey
- A R B-9% 3z sifve (@191fb9 e el | L CTIeET cargss 3 R 3rega iz (i feafd % @iy
B17-GS (EN/AS/BN) [18] A7-GS (EN/AS/BN) [19 ] | ' Contd.




25: Draw a labelled diagram of longitudinal section of an ideal Or / 721 / G341
flower. ' 2 Wrile the [unctions of adrenaline hormone. ¥ 3
ot el e R s B Wi fgEem TR i g
| wIiIGIfEm ZaeE e @ |
a7e sl peem Mefornra fofee foa i |
| loxplain how sex is determined in man. 3

L 7
or/ .‘”33” Aljga o Fdie & w2 i =)

Draw a labelled diagram of female reproduclive syslem o Az o R Srei < =i s

‘ T
. human. 0!‘_/"??33? / &=
S Bieen ok 94 Hizw e ik | | What are the factors of speciation ? Illustrate with example.
_ 1+2=3
- Torzd WAt fofee g i | .
A G GOl _ s0lfeia <BIRRAEIR BT TS It <
M alleEcer SRS Srigad T B0 I |
26. What is reflex? Why reflex arc developed in animals ? Wril
the components of a reflex arc. 1+1+1=¢ lixplain what are the components of an ecosystem ? Mention
olte non-biodegradable waste we generate. 2+1=3

ool Forat s 2 1T 2SN <] o 7% T il e il BoAmart 77

Milee wue SoAm [ & & w1 wnfl 5 w1 S i
A ‘

el ot S 3= |

91| Rl R 2w 24t @ 1 R zeace? oS g RS T/ s v Sommer 9 9 g e SIS 72 G0 CSra-Sifet <[

T Al vl Geprl @A |
B17-GS (EN/AS/BN) [20] (G5 (IEN/AS/BN) [21] Conldd, "



29.

30.

Or /%31 / 521

What is trophic level ?° Describe the trophic levels of a fo

Chaln. ]_ +2:

s @aﬁw A R4 I cé‘rr%?ﬁ T AZ el =l |
(TS B F1? G0 A3 A (T % ST e E

What are fossil fuels ? Mention one disadvantage of burnir

such [uels. 2+ 1=

@W?{?ﬂﬁ?ﬂﬁ? & 2 GBS SFe W TS (2 S Sl ﬁz?/@re—
| '

SR e B2 G GIFINIGTET TR FCE T 2ET 5 B
T T |

What is tﬁndall effect ? Mention the colour of light scatterc
most when white light passes through a medium of particle:

of very fine size. _ 2+1=!

-ﬁma*ﬁﬂﬁm%?aﬂmmmmww-: TCET AE 2 6N

(FF SIBIMER (hizg wioieece @R [FEe T Tz w4l |

{oTSIeT 2o 1 2 A T T ST SIS TR AR TR 0k Fe =i
A, (T SR SIS FANAE @ [ 2 S e |

B17-GS (EN/AS/BN) [22]
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> Electric heaters designed to be use'd on a 220V electric supply-

line are rated as 11W. If 1.he maximum supply current is 5A

how rnany electric heaters can be connected in parallel with

each other across 220V supply line ? How much total energy |

is consumed by these in 20 minutes ? 2+1=3

11W @ Bfoe apfes &oR @i 220V wize IR AE@ oA 4
Carz) 1 BT 7t AT @41E 5A 28, Rein! @pfes Rom Ao
220V #fZAF w9l A FRA #1717 A= 20 il 3y o =ifE

Bt

11W-a Bfs @l @pfes B 220V @iRE 2@ o). (o =1
AR | AM O<H cwﬂt&ﬁsmmiﬂ,ﬂﬁeﬁwmw
220V FZER A FE T4 A @< 20 RRG @l w7 =ife a7 7

32. (@) What happens when sodium metal is added to ethanol ?
Write the bhemical equation for the reaction. . B
BalFT ovle T 4y (el SReET & 96y [iemen ety
AR T B . k) |
BYMER @ EIGAN Ay @i T ) 96 e [igmia anea
AR SR @Al E

B17-GS (EN/AS/BN) (23] Contd.
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(b)) What is hydrogenation reaction ? Give one example. (b)) How many structural isomers can you draw [or butane

(CqH, o) ? Write their names. 2
ZEy e e Ry by e fan RSB (Cy My o) G FHTITD1 918 TCalSN) SR Aifaan » eifersra s
| o ' e i

giEcgiceTF [ S b Saigad wie | . ' ;
e fASCh (CyH 0)~<7 T A 515 FhICaieT SRS oA 2 droiibd

. - o[[5l 4
(¢) Write the formula and clectron dol structure o T o
- eyclopentane. ' ' '
e _ (c) Draw the structure ol bromopcntanc. 1
w’cvrﬁ‘ﬂa ALFS S 2T ﬁ"’i siom feralt | ] AT 5 5 S |
ABTICACTT-GA LS AL TG [ 510 (= | _ @IGIATHER 6 oa e |

Or / 7324 / g4t

33. {a) Give the name of a _metal which is liquid at room

' . 3 : ‘lemperature. . 1
(@ How will you distinguish experimentally between an alcoh : A

and a carboxylic acid ? Give chemical equation. AYRe BSOS GAHl TRZ© I 4y GO A= F A

HYe Taeor OIE SREICe AF GF 0 4igd A @Al |

oA\ TS AR O SR e e AL
| et e e e B

(b) Distinguish between mineral and ore giving one example.

SATVFIR AN SRR G SR S e 2L el
orlia 2 T ATeEe el |

TE Sl SlEeE Al @b Swizae 7 &4 |
e a2 SRR Al 9B BwEad T @Al |

317-GS (EN/AS/BN) [24] - §17-GS (EN/AS/BN) _ [25] _ ! ~ Contd.




Or / 71231 / @12t

4

(c) A student took sulphur powder on a spa[ula'and healct
it. He collected the gas evolved by inverting a test tub

over it. (1) Whal type of oxides are produced when non metals

G BIEE BN e REER GfY 6 Ted B[ | G5l A
(srBIe eoRe erebis R e @Rl (bt ez SR |

G B@ BRI AT ool [ el I | (T G 9
M Toitd TE0l FE 4@ [5fs 28l i A8y ! |

combine with oxygen ? ' 1
Wil Il SREE TeTe @S T (i 219E SRS Gery 277
UG G} SRS T G A A s GeAn 2 e

A.  Wrile the balanced chemical equalion for the reactio
taking place.

Sabe il RN wrafre ke T E‘l‘inl
Scufee gen Rigpafta werels)d ammfFs wTaad @0l

(h) Name one melal that is found in nature in free state.

49foS T& SRS (ARl G5 4rgT IS =i |
i 5 UFfore & T “Aleq Hb arga AT @Al
B. Whal will be the action of the gas on
(alegb fEral e 29
seifbs fFar et 2
() dry litmus paper?
&l feibsiy Plores e ?
G [0 TG HCH 2

(¢) What happens when mercuric oxide (I-Ig.O] is heatled ?
Give chen‘uca.l equation. 1

vmﬁtﬁaswr?a@ (HgO) @waﬁmﬁwﬁpwmﬁ?ﬁﬁmqﬁm
TERES R BEIze (HgO) Bed e ) 905 2 APTAERS ST A |

()  You take an aqueous solution of CuSO, (blue in colour)
in a test tube. Now dip a clean iron nail in CuSO, solution.
Observe the Lest tube after 20 minuies (approx) 2

@Bl 9 T B CuS0, T <6 TRy wd (e F_d) @il |
Cu1SO4 4 TS BT #f[A%T (F119 aIEi# T2ig frat | 2iE 20 B =g
<349 7{Ibw

(i)- moist litmus paper ?
e bR Fiees w1 ?
e o sisicers #i0s 2

(d) Why do ionic compounds have high melling pomL‘?
ST AR S /B @ie
S AR AR 2

B17-GS (EN/AS/BN) .. [i26] 17-GS (EN/AS/BN) [27] - Contd.



a2~ T 9 CuS0,-97 Gl tﬁn %3¢l (et Emcﬁ) WTf
CuS0,;-97 w3qrd 9o e (EZI9. sterle iRy wie | ?_{‘!1 --

20 Tl G 7 sa@ | — ;
4
i.

() “Mention the change of the nail.
TGS (i AR Searad <l |
TaIFTS 26wl AT Sl we |

(i) Write a balanced chemical equation for the reactio

ffeaner OGt efre e B

&ty @b eyl Fimma @i 35.

34. Describe the mechanism of breathing in man. Why the rate

breathing is much rapid in aquatic organisms than (I

terrestrial organisms ? 4+1

Wwwmmaﬁwuwmﬁawwmmwﬁ
ST @ 1t !

+1B17-GS (EN/AS/BN) [28]
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Whalt Is photosynthesis ? What are the principal events i

oceurred during photosynthesis ? State how CO, is absorb

by plants ? .1+3+]:

[ FTRTERe 2 A FREITR TS (ZRT T2 o1 R 52 Of
(II0E COy NS T 7721 |

Al FCEE 1 2 TS ACHACER T OO J2 ﬂﬁ:rrir:[z 2 O
eI CO, iEet T (TR |

I'ind by construction the position of a lens and the main foc
on the principal axis OO" if A;B), AyBy are respeclively th
object and the image. What type of lens is this? =

Find the focal length of a lens of power (-2:0) D.’
2+1+1+1=E

1 41 OFF 00’3 €7qS A B, AyBy THRE Sii% afo¥q S@g 23,
O TR R TR W T S AP TR (0RO e 9

(T RCBIR 2P (2
(- 2:0) D 5O (G TR (74 el < |

1317-GS (EN/AS/BN) [29] 2+~ Contd.



aM OO-J4f B G4 A DB, ApBy TR R Al o 7,

T E (TG SRR @3¢ U W QA A glon g fefe
Tl | @A U F) 2

(- 2-0) D FTOR@ @ P-aa P d e @@

o Ihem CHAEPL TG 3% Ben wold R A Srekps, 4, wigbe (R
llvlestat o) Afsfay ererF TR T eaemE @Aba sEe @@

s Gt wefera Rada V713 ceremt ol =, 2w e, 2ifefices 2
Slor UG 8 2@ T ) | |

A
SO, What will you do for sustainable management of natural
) B, , resourees ? 5]
B, ) gl AR T gt SRk o [ sikare
Uleplos 1 2icae 42T AR 08 B0E Of F) FAE 2
A Or/#23 /&3
2

Why should we conserve fnrests and wildlile ? Give an example
ol pcople’s participation in the management of forests., 5

I a9 S e i [y F[/T A e S| wrﬂmm MIGET
wlelie 9By Swizad | N
I G TN A S| (& 2 SRy o e SR
«pli TRIZA TG |

Or / 7231 | s1<4)

Draw the ray diagram necessary Lo observe virtual, erect,
diminished (not of point size) image ol an object using convex
mirror ol [ocal length 15cn.

Magnificalion prbduccd by a convex mirror is y If the [ocal

length is f, find the Clb_]GLL distance, image distance in terms
of curvature r. 2+2+1=5

" 15cm CFRRI0RE] I& ©ad vledie amala a4 e, o, ‘::i['.:‘ﬂ?'fh (e
SliFlE w1Za) dfels o e danenl @by sieae g |

T wceliel o fadf V1ol ceresiend [ 2w, @ g, oo 2m

SIGRIFAE 1 2 <l | D WlllOa' ed from JObASSam n
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